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(1 1) BROAZB/KOLIERKR G5KNE R ERFE)

FREX | FKUNE | FKUOE TKE BEEEHKES SO ERLE MEEEH KBS
THET & ARAD | BEREHE | HREE | READ BiEx ®BiEAD BigEx ®HiEAD BigEx ®HiEAD BiEEx
N &E (%) AO (A) (PN) (%) AN) (%) (AN) (%) (AN) (%)
KiEm 341,489 98.8% 337,383 333,991 97.8% 997 0.3% 2,395 0.7% 0.0%
EiR 112,474 96.4% 108,444 87,079 77.4% 4,866 4.3% 16,499 14.7% 0.0%
RET 123,335 99.9% 123,268 96,345 78.1% 26,421 21.4% 502 0.4% 0.0%
YT\ 82,032 97.6% 80,096 60,770 74.1% 660 0.8% 18,666 22.8% 0.0%
BHEH 126,032 100.0% 125,989 120,212 95.4% 5,250 4.2% 527 0.4% 0.0%
SPT 79,427 100.0% 79,391 74,456 93.7% 4,839 6.1% 96 0.1% 0.0%
EX g 66,396 99.0% 65,737 65,378 98.5% 200 0.3% 159 0.2% 0.0%
BEH 93,681 93.2% 87,271 68,077 72.7% 10,244 10.9% 8,950 9.6% 0.0%
oM 50,836 99.3% 50,455 47,401 93.2% 29717 5.9% 77 0.2% 0.0%
MEh 54,950 98.7% 54,211 52,903 96.3% 0 0.0% 1,308 2.4% 0.0%
f=t=nil 52,392 98.2% 51,443 40,955 78.2% 9,394 17.9% 1,051 2.0% 43 0.1%
| HiEiTH 116,603 97.9% 114,172 85,492 73.3% 27,881 23.9% 799 0.7% 0.0%
F*EH 40,577 100.0% 40,573 36,318 89.5% 4,059 10.0% 196 0.5% 0.0%
=ESd:) 22,525 98.2% 22,112 16,473 73.1% 4989 22.1% 650 2.9% 0.0%
=T 12,730 99.1% 12,617 10,788 84.7% 874 6.9% 955 7.5% 0.0%
E AT 21,150 99.8% 21,100 20,959 99.1% 0 0.0% 141 0.7% 0.0%
£ AT 7,398 100.0% 7,398 7,396 100.0% 0 0.0% 2 0.0% 0.0%
R AT 7,621 99.1% 7,553 7,553 99.1% 0 0.0% 0 0.0% 0.0%
ZEH 71,778 97.8% 7,606 6,671 85.8% 708 9.1% 227 2.9% 0.0%
2 Gt 1,419,426 98.4%| 1,396,819| 1,239,217 87.3% 104,359 7.4% 53,200 3.7% 43 0.0%
F1) E 2543831 HIREDAOTT,
E2) EREASERAOICIE. HEAZEAET,
(12) Bt 2—EERIKR (ERL 24 F£E)
— _ B £/
(b — oH BOD CcoD SS T-N T-P KRR
(mg/L) | (mg/L) | (mg/L) | (mg/L) (mg/L) (f&/mL)
S oh FRAKE 7.3 176 95.2 182 31.5 3.30 —
“fﬁﬂst‘/@n— Rk E 6.6 0.8 5.0|N.D. 48 0.06 5
) BREE %) — 99.5% 94.7%[>99.9% 84.9% 98.2% -
. 7 RAKE 7.3 156 91.9 154 26.0 2.95 —
I~“$1tt‘/9— BRKE 6.7 0.6 53|N.D. 3.3 0.05 47
' R = (%) — 99.6% 94.3%|>99.9% 87.2% 98.5% -
B o4t AKE 7.4 109.3 64.0 118.7 25.3 2.3 -
~’$1l:1z>an— WK E 6.7 0.8 5.0|N.D. 2 0.05 12
! BREE(%) — 99.3% 92.2%[>99.9% 92.0% 97.8% -
= g RAKE 7.2 158.3 78.9 138.7 26.1 2.8 —
Sty B E 6.3 11 57|ND. 3.9 0.04 18
' IR EEE (%) — 99.3% 92.8%[>99.9% 85.3% 98.5% —
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(13) AETKEDERHFEEE
SR E | FER24AFEERIRR
MNEBX 4 T4 Belpmts | BEmiE | BliEE% =
(EFEE) A(ha) C(ha) C/A

;S EE o AR REE (B 28,4298 | 17,397.7 61.2%
;5 76 BEEE (E1) 34294 ] 2179.1 63.5%

EENRETKE B AL ERREE (B 13,105.1 | 9,312.4 71.1%
=S EEEGED 2501.0] 1,890.8 75.6%
INET 47.465.3 | 30,780.0 64.8%
R (B -REFI365) 14713 14196 96.5%|—HERET
RET (BE-FmR3F) 92.0 92.1 100.1%] 3%
ST/\ET G E - FEFN535) 8.7 8.7 100.0%| 4518

=B i B7NE S BEm(El-Fk2%F) 4445 334.0 715.1% | BB EH
BEHUSE -FR145) 483.0 74.9 15.5%
SET AR -FR4E) 57.6 56.9 98.8%| 4518
N 2,557.1 1,986.2 77.7%
HEE 50,0224 | 32,766.2 65.5%

* KETOBRENERX(L, AHBEETKE

(14) BEEE

AL 5%

%[Z & % C O DAL

60

MW% AR

"”MWW“ M

COD (mg/1)

20

00

ma =~ —onmn
WMo =0

Mmoo - =~ o~

mro - B = o

2 2 2 2 2 2 2
0 0 0 0 0 0 0
1 1 1 1 1 1 1
1 1 2 2 2 2 2
& F & & F & &
1 1 2 4 6 8 1
0 2 A A A A 0
A A A
—O— ARBMIRBHIT K —8— B3k —A—AJVREK —— EERALIEK
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(15) THBKRHF DR

BEEXS - AEINREXGHOHER

7000 [
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6000 F ——BEEXE T HRBNREES ’ " 5,801
5000 [ 85
4,958
4000 T
3,783
2,904 3,005 3671 0832
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2,132 2,483736 2.938 2,105
2,000 2,106 2287
1502 ; /1,438
oss o05 1086 1149 1,197
1,000
498
o " o5 068 64s 680
0 L L
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6 e o1 ‘* 5 83 L A 66
49 747 71 70 71 68 72 ) 51759
38 35 41 A-4843 4 " g3 68 R 43
50 . o 52 52 0N 49 > 33
3030 33 55 5 By 2w R i
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(16) KHE - BEZFHORIDFEYEREDIKR

AN DFEHBERE ERKEOEFRIL 4/HhE~5/T4H) m
mm
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(cm)
35 T

:Fi’Jﬁjfﬁfy'Qri)
FEHERED 3 HEBBTFL (cm)
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FEKE
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(17) dLI7GERARERERR
7 OLI7BIZEITS5EEFRKRETHFER

R 5 | SR | mEm | ommm | mEm | REM | &
T’;fﬁﬁ);;g; — —— 15.9 7.3 18.4 0 416
R"— = 4615
EREEE (ko) 289 132 334 0 756

ENEHEE TR 24 E48 1H~FER 2B E3A831H
FEDEHRETILIEG  R—ILOEMN 6 R—ILLLETHY . D, "—ILDOFIEEEAS T0m LA
rtoanos

1 18hR—ILALYDEREERERFELL

18 R—ILE-YDREERERELL

kg 18%—I
3000
2500 I i
—o—  REH
—A—  RHA
2000 ——  [REH
—&— REHE
1500 —— & it
1000
1
e
500 e « e o o
S =3 i~ = — S Y = > > S 8 —— A 2 3 >

0

12 3 4 5 6 7 8 9

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24
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(18) REHKERE
RERKAE MR

-

BEEE / maskel

1 TR 24 FEREHKERERE (EETHE)

I=R0 Rk v

woke | e | Bgm | DER | MUTE o ;(5:%%—531?

IKZE (m) 6.1 5.3 12.2 7.9 7.8 7.0 12.2
FEHAE (m) 2.0 2.1 1.9 2.0 2.1 2.0 2.4
pH 8.0 8.1 8.0 8.0 8.0 7.9 8.1

DO (mg/L) 10.2 10.1 10.1 10.1 10.1 9.2 10.1
BOD (mg/L) 1.4 1.3 12 1.3 1.1 1.3 1.2
COD (mg/L) 41 4.0 4.0 40 3.9 41 3.7
SS (mg/L) 3.3 3.3 3.3 33 3.3 35 3.9
T-N (mg/L) 0.36 0.33 0.34 0.34 0.39 0.35 0.35

T-P (mg/L) 0.027 0.025 0.024 0.025 0.026 0.027 0.025
~JARA74)b-a (ug/L)| 138 12.2 134 13.1 12.4 145 13.3
EC (mS/m) 11.8 11.7 12.3 11.9 11.9 12.6 9.9
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D REHKEHERR (TR 24 FE)

5 - ——— oK AL IR E A
S BEEHRENERRE LS —

HRKERR H24521 | H24.820| H24.11.20| H25218 = ps | =, | TiyiE

jeic# 10:08 10:05 9:55 10:05

Kz 5 5 S 551

Fim c) 21.1 28.7 104 2.4 28.7 2.4 15.7

2KE (m) 6.2 5.6 6.3 6.3

EAE (m) 3.3 0.9 18 1.9 3.3 0.9 2.0
—KE c) 18.9 30.1 13.4 40 30.1 40 16.6
IE pH OkFEAFRE) 8.5 9.6 7.4 75 9.6 74 8.3
B oo (BEER) (mg/L) 13.0 10.4 8.0 139 13.9 8.0 1.3

DOfAFIE CammRtafE) (%) 144 138 79 109 144 79 118

cob UemBRERE) (mg/L) 3.1 5.8 38 3.7 5.8 3.1 4.1

BOD (emiepnmEERS) (mg/L) 0.5 2.8 1.5 0.8 28 05 14

SS (REMES) (mg/L) 1.7 2.8 4.4 4.0 4.0 20 30

T-N (RER) (mg/L) 0.18 0.59 0.42 0.26 0.59 0.18 0.36
x|T-P (&YA) (mg/L) 0.012 0.033 0.043 0.020 0.043 0.012 0.027
E NH4-N  (7oE=7HZEH) (mg/L) <0.01 <0.01 0.02 <0.01 0.02 <0.01 0.01
B|No2-N  (EmEBE) (mg/L) <0.001 <0.001 0.045[  <0.001 0.045 <0.001 0.011

NO3-N  (REsmEZE®R) (mg/L) <0.01 <0.01 0.07 <0.01 0.07 <0.01 0.02

PO4-P  (YABEEEVA) (mg/L) <0.003]  <0.003 0.008]  <0.003 0.008 <0.003|  <0.003

yaA74Mla (/L) 3.2 18.7 19.1 14.0 19.0 3.2 137
% 4anR74b (ne/L) 0.3 0.7 0.9 0.5 0.9 0.3 0.6
% [ya0740c (ueg/L) 1.0 <0.1 0.5 1.7 1.7 <0.1 08

PEYN=ES (ug/L) 1.1 43 6.9 3.7 7.0 1.1 4.0
0%) Cl— &A1) (mg/L) 8.0 8.4 8.6 8.2 8.6 8.0 8.3
fth [EC (BEREEE) (mS/m) 10.5 13.0 13.2 10.5 13.2 10.5 11.8
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. - —— Bk AL IR SR
ST EEHREREHE LS —

HKEAR H24521 | H24.820 | H24.11.20| H25218 | = ps | =, | TiyiE

BoKEZI 10:15 10:15 10:00 10:15

Kz i3 i3 £ 551

Kim c) 211 28.7 10.4 24 28.7 24 15.7

2KFE (m) 54 438 5.4 5.6

ERE (m) 3.6 0.9 1.9 20 3.6 0.9 2.1
ﬁ—n KB c) 18.7 30.1 13.4 40 30.1 40 16.6
IE pH (kFEAFVRE) 8.5 9.6 7.4 75 9.6 74 8.3
B oo (BEBRR) (mg/L) 14.1 10.1 8.3 14.0 14.4 8.3 1.7

DOfAFNE CammRtfE) (%) 159 134 82 110 159 82 121

coD UemBEERE) (mg/L) 3.2 5.5 3.7 36 55 3.2 40

BOD (emiepamEERS) (mg/L) 0.2 28 1.4 0.9 2.8 0.2 1.3

SS (RENES) (mg/L) 1.6 2.6 40 30 40 20 30

T-N (REF) (mg/L) 0.16 0.52 0.39 0.25 0.52 0.16 0.33
X|T-P (&YA) (mg/L) 0.011 0.029 0.037 0.021 0.037 0.011 0.025
E NH4-N  (7rE=7HEZ)  (mg/L) <0.01 <0.01 0.02 <0.01 0.02 <0.01 0.01
BNo2-N  (mmEmEz) (mg/L) <0.001 <0.001 0.044 <0.001 0.044 <0.001 0.011

NO3-N  (REsfEZH) (mg/L) <0.01 <0.01 0.07 <0.01 0.07 <0.01 0.02

PO4-P (YABHEEYA) (mg/L) <0.003]  <0.003 0.007 <0.003 0.007 <0.003]  <0.003

yan74lva (ue/L) 2.6 17.8 135 14.0 18.0 26 12.0
% /aa74)bb (ueg/L) 0.3 0.7 1.0 1.0 1.0 0.3 08
2 [90074)bc (/L) 0.9 <0.1 1.5 26 2.6 <0.1 1.3

JzAfEE (ug/L) 1.3 5.4 8.8 1.9 8.8 1.3 44
a%) Cl— (i1 1>) (mg/L) 7.9 8.3 8.5 8.3 85 79 8.3
ft [EC (BEREEE) (mS/m) 11.4 13.4 13.2 10.6 13.4 10.6 12.2
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ok R RE00 5m eI Lo
ST EEHRENFHRE S —

RKEAR H245.21 | H24.8.20 | H24.11.20| H252.18 | =i | &= | T

KB Z 10:25 10:25 10:20 10:40

Kz i i3 = 5

R c) 211 28.7 10.4 2.4 28.7 2.4 15.7

£KE (m) 12.3 11.6 12.4 12.4

BEHE (m) 34 1.1 1.0 2.2 34 1.0 19
E_" KR c) 18.0 29.9 13.2 3.9 29.9 3.9 16.3
IE pH OkFEARE) 8.6 9.6 74 75 9.6 7.4 8.3
B bo (BEBRR) (meg/L) 13.2 10.1 8.1 14.0 140 8.1 114

DOfAFNE CarrBazmatneg) (%) 144 134 80 11 144 80 117

coD (UeHBRERE) (mg/L) 3.1 55 36 3.7 5.5 3.1 40

BOD CemiepnmzEre) (mg/L) 0.4 2.4 1.1 0.9 24 0.4 12

SS (ZHYER) (mg/L) 1.9 2.4 36 3.0 40 1.9 3.0

T-N (22H) (mg/L) 0.16 0.55 0.39 0.25 0.55 0.16 0.34
x|1-P (&YA) (mg/L) 0.011 0.027 0.038 0.021 0.380 0.011 0.024
E NH4-N  (7rE=7HEZER) (mg/L) <0.01 <0.01 0.03 <0.01 0.03 <0.01 0.01
B No2-N  (mmmmEE) (mg/L) <0.001 <0.001 0.048 <0.001 0.048 <0.001 0.012

NO3-N  (fuBsrezsR) (mg/L) <0.01 <0.01 0.07 <0.01 0.07 <0.01 0.02

PO4-P  (YABEEYA) (mg/L) <0.003]  <0.003 0.008 <0.003 0.008 <0.003]  <0.003

ya074la (peg/L) 4.4 20.5 14.0 15.0 21.0 44 13.0
% /RR741lb (ne/L) 0.1 0.4 0.4 0.6 0.6 0.1 0.4
¥ |yon240c (ne/L) 0.8 1.0 1.6 2.1 2.1 0.8 1.1

JzABER (pg/L) 2.8 8.1 6.8 3.4 8.1 2.8 53
0%) Cl— (EiLmAA>) (mg/L) 7.9 8.3 8.4 8.3 8.4 7.9 8.3
f|EC (BSEERE) (mS/m) 11.2 134 13.3 10.5 13.4 10.5 12.1
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. & 7 8n6m —— Bk AL IR S
S EEHREREHE LS —

HKEAR H24521 | H24.820 | H24.11.20| H25218 | = ps | =,nE | TiyiE

EKEEZI

Kz

Kim °c)

£KE (m)

BHE (m)
KR c) 15.7 20.4 13.2 40 204 40 13.3
Iﬁé pH (kFEAFVRE) 7.9 7.3 7.4 74 7.9 7.3 75
B oo (BEBRR) (mg/L) 103 1.1 8.5 - 10.3 1.1 6.6

DOEAFNE CamiztamE) (%) 107 13 84 - 107 13 68

coD UemBEERE) (mg/L) 40 4.2 35 4.2 4.2 35 40

BOD (emiepamEERS) (mg/L) 0.6 15 0.7 1.0 1.5 0.6 1.0

SS (RENES) (mg/L) 56 38 40 4.0 6.0 40 40

T-N (REF) (mg/L) 0.28 0.46 0.41 0.46 0.46 0.28 0.40
X|T-P (&YA) (mg/L) 0.019 0.040 0.036 0.028 0.040 0.019 0.031
E NH4-N  (7rE=7HEZ)  (mg/L) <0.01 0.05 0.04 <0.01 0.05 <0.01 0.02
BNo2-N  (mmEmmEz) (mg/L) <0.001 <0.001 0.050 <0.001 0.050 <0.001 0013

NO3-N  (REsfEZH) (mg/L) <0.01 <0.01 0.07 <0.01 0.07 <0.01 0.02

PO4-P  (YABEEEYA) (mg/L) <0.003 0.003 0.009 <0.003 0.009 <0.003|  <0.003

yan74lva (/L) 7.7 195 11.3 16.0 20.0 7.1 14.0
% /aa74)bb (ueg/L) 1.2 19 0.7 0.2 1.9 0.2 1.0
2 [90074)bc (ueg/L) 1.5 1.6 1.4 15 1.6 1.4 15

JzAE%R (ue/L) 3.1 12.9 6.9 2.0 13.0 20 6.2
a%) Cl— (i1 1>) (mg/L) 8.3 8.6 8.5 8.4 8.6 8.3 8.5
ft [EC (BEREEE) (mS/m) 13.6 17.6 16.5 13.7 17.6 13.6 15.4
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e e spas s oK AL IRIE S ISR
A EEHRERZERR L S—

BKkEAR H24.521 | H24.8.20 | H24.11.20| H25218 | =i | mva | @

FRIKEF %I

K&

m (°c)

2K (m)

BEEE (m)
ﬁ—n Kig (c) 11.6 - 13.1 40 13.1 40 9.6
IE pH (kEAAVRE) 7.2 7.0 7.3 75 7.4 7.0 7.2
B loo (€253 ) (mg/L) 3.1 - 6.8 - 6.8 3.1 5.0

DOSAFIE carmztameE) (%) 29 - 67 - 67 29 48

cob UesmBRERE) (me/L) 3.2 3.6 3.5 4.0 4.2 3.2 3.6

BOD (EmepnmEERE) (meg/L) 0.3 1.7 0.8 0.9 1.7 0.3 1.0

Ss (HmER) (mg/L) 5.2 10.4 6.4 40 10.0 40 7.0

T-N (2EH) (mg/L) 0.41 0.56 0.46 0.35 0.56 0.41 0.47
X|t-P (2YA) (mg/L) 0.042 0.088 0.047 0.026 0.088 0.028 0.051
E NH4-N  (7rE=7gEz®)  (mg/L) 0.21 0.33 0.06 <0.01 0.33 <0.01 0.15
Hnoz-N  mmmmEm) (mg/L) 0.003 0.004 0.045 <0.001 0.045 <0.001 0013

NO3-N  (fumgez=s) (mg/L) 0.03 <0.01 0.08 <0.01 0.08 <0.01 0.03

PO4-P _ (YABEREYA) (mg/L) 0.009 0.014 0.012 <0.003 0.014 <0.003 0.009

HA074)ba (neg/L) 3.8 3.0 10.2 12.0 12.0 3.0 7.3
% HAA741lb (ue/L) 2.0 0.1 0.7 0.8 2.0 0.1 0.9
£ [ya0740bc (ue/L) 0.8 1.2 1.1 1.8 15 0.8 1.2

JzABEE (ug/L) 5.4 35 8.7 38 8.7 35 4.9
0%3 Cl— (EIEm11>) (mg/L) 8.1 8.8 8.5 8.4 8.8 8.1 8.5
ftt |EC (BRIEHE) (mS/m) 17.6 - 18.7 15.6 18.7 15.6 16.7
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- —-— —— Bk ML IR SR
S EEHREREHE LS —

HKEAR H24521 | H24.820 | H24.11.20| H25218 | =ps | =, | TiyiE

BoKEZI 10:55 10:45 10:30 10:45

Kz i3 i3 £ 551

Kim c) 211 28.7 104 24 28.7 24 15.7

2KFE (m) 7.8 6.3 6.9 7.0

ERE (m) 3.2 0.9 1.7 20 3.2 0.9 2.0
KR c) 19.4 30.2 133 40 30.2 40 16.7
Iﬁé pH (kFEAFVRE) 8.6 9.6 74 75 9.6 74 8.3
B oo (BEBRR) (mg/L) 11.0 9.8 78 - 11.0 7.8 95

DOfANIE Camm=aig (%) 123 130 77 - 130 77 110

coD UemBEERE) (mg/L) 33 5.7 3.7 37 5.7 33 4.1

BOD (emiepamEERS) (mg/L) 0.2 26 1.4 1.0 26 0.2 1.3

SS (ZHMER) (mg/L) 15 3.2 50 40 5.0 20 30

T-N (2% (mg/L) 0.16 0.53 0.44 0.25 0.53 0.16 0.35
X|T-P (BYA) (mg/L) 0.011 0.030 0.044 0.023 0.044 0.011 0.027
E NH4-N  (7rE=7HEZ)  (mg/L) <0.01 <0.01 0.02 <0.01 0.02 <0.01 0.01
BNo2-N  (mmEmmEz) (mg/L) <0.001 <0.001 0.046 <0.001 0.046 <0.001 0012

NO3-N  (REsfEZH) (mg/L) <0.01 <0.01 0.07 <0.01 0.07 <0.01 0.02

PO4-P (YABHEEYA) (mg/L) <0.003]  <0.003 0.008 <0.003 0.008 <0.003 0.002

4anR74Mla (/L) 4.1 185 176 170 19.0 4.1 14.0
% 4aR74lb (ueg/L) 0.3 0.3 0.6 0.6 0.6 0.3 0.5
2 [90074)bc (ueg/L) 0.8 15 3.0 28 3.0 0.8 20

JzAE%R (ue/L) 1.7 12.0 9.2 3.2 12.0 1.7 6.5
a%) Cl— (i1 1>) (mg/L) 7.8 8.4 8.6 85 8.6 78 8.3
ft [EC (BEREEE) (mS/m) 11.5 13.4 14.3 11.7 14.3 115 12.7
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(19) ADMKERE

7 TOEKERE S

/
b ® mEin&
Hgrn

1 FEOHMPREKERERR

v FEDH R RER (No. 3) FHEESS
BE | -

154 | 164 | 174R R 18400 194 | 20 | 1m0t | 234k | g | BIRIE

o H 82| so| 78] 76| 74 74| 73] 79| 75] 79[ 65~85
po |myw| — | — | so| s8] o5 se| 115] 94| 92| 10| 15
BoD |mg/ti| 1.9] 16] 24| 33| 82| 28] 39| 24| 20] 20 2~3
cop |m/ix| 45| 46| 54| 56| 56| 56 56| 52| 54| 53] 3~4
TN mg/e | 21 17| 1o 20 17| 16| 18| 20| 18] 17 i
T—P | mg/t [ 0.045 [ 0.038 [ 0.055 | 0.087 [ 0.086 | 0.081 [0.080 | 0.097 | 0.085 | 0.095 [ 0.05~0.06
ss |myuw| 7| 5| o us| 4] w3 e[ e 17| <o
wmE | n | 1.3 13] 1] o7 o7] o8| o8] o6 o7] o7 i

*1 T—1 [ZRA

*2 FRI9EEFTTEIFEI2E, FiK20FENLF 4 EFEDHER
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D FEOHKERHERR (FK 24 £E)

| NelGEEmbEs) | mmmm | o UREEE
A EENREHNEHREVS—

FEBR 5/21 8/20 11/19 2/18 - -

FRKEFZI 11:03 10:50 11:05 11:08 BX wh 9

KiE i i i 53]

SUR c) 21.0 295 10.0 40

FREUK R (m) 0.5 05 0.5 05

2KZE (m) 1.4 11 1.0 15

ERE (m) 0.7 0.9 <05 0.6 0.9 <05 0.7
—| K& e 188 27.6 124 5.8 276 5.8 16.2
ﬂé pH 7.7 7.2 7.3 7.2 7.7 7.2 7.4
B| po (mg/L) 10.3 7.6 9.2 10.8 108 7.6 9.5

DO (%) 114 98 89 89 114 89 98

coD (mg/L) 6.0 6.6 47 3.9 6.6 3.9 5.3

BOD (mg/L) 15 2.0 0.9 0.5 2.0 0.5 12

SS (mg/L) 11 11 38 10 38 10 17

KiGHE (MPN/100mL)] 7.9E+03 | 4.6E+04 | 4.9E+03 | 7.9E+02 4 6E+04| 79E+02| 1.5E+04

NH,—N  (mg/L) 0.02 0.09 0.20 0.16 0.20 0.02 0.12

NO,—N  (mg~L) | 0.021 0.021 0.018 0.010 0.021 0.010 0.018
% | NO;—N  (mg-L) 1.0 12 2.0 16 2.0 1.0 15
E DON (mg/L) 0.45 0.51 0.13 0.23 0.51 0.13 0.33
#| T-N (mg./L) 15 1.9 24 2.0 24 15 1.9

PO,—P  (mgsL) | 0011 0.048 0.024 0.024 0.048 0.011 0.027

T—P (mg/L) | 0.089 0.152 0.132 0.087 0.152 0.087 0.115

yon74lba  (uegsL) 16 11 7.9 3.6 16 3.6 9.7
81 smEnmb (g L) 2.1 24 22 0.2 24 0.2 17
z 40074be  (uegsL) 1.0 <0.1 2.8 0.3 2.8 <01 1.1

JxAE  (uesL) 7.8 8.5 5.6 3.3 8.5 33 6.3

Cl™ (mg/L) 18 10 20 18 20 10 16
0%) Fe (mg/L) 0.57 0.80 0.70 0.77 0.80 0.57 0.71
#| D—Fe (mg/L) 0.10 0.21 0.12 <0.05 0.21 <0.05 0.12

EC (mS./m) 19.5 13.7 213 20.1 213 13.7 18.6
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BoK: RELIRE R #r

R No.3 (Ff R &R Bk e
A EENREHNEHRELS—

FEBR 5/21 8/20 11/19 2/18 _ _

FRKEFZI 10:35 10:25 10:38 10:41 BX wh 3

K& i i i 3]

UR c) 21.0 295 10.0 40

FREUK R (m) 0.5 05 0.5 05

2KE (m) 2.6 2.6 16 1.9

ERE (m) 0.8 0.9 <05 0.7 0.9 <0.5 0.7
— | K& e 188 29.2 11.2 46 29.2 46 16.0
ﬂé pH 8.8 74 76 7.6 8.8 74 7.9
B| po (mg/L) 1.7 7.0 9.7 115 11.7 7.0 100

DO (%) 129 92 91 92 129 91 101

coD (mg/L) 6.8 6.0 50 35 6.8 35 5.3

BOD (mg/L) 3.0 2.9 16 0.6 30 0.6 2.0

Ss (mg/L) 13 13 31 11 31 11 17

KBEE (MPN/100mL)] 4.9E+02 | 3.3E+03 | 7.9E+03 | 1.3E+02 7.9E+03 1.3E+02|  3.0E+03

NH,—N  (mg/L) <0.01 0.07 0.32 0.06 0.32 <0.01 0.12

NO,—N  (mg L) 0.019 0.008 0.022 0.007 0.022 0.007 0.014
| NO;—N  (mg L) 0.6 12 18 1.3 18 0.6 12
E DON (mg/L) 0.71 <0.01 0.39 0.27 0.71 <0.01 0.35
#| T-N (mg/L) 1.4 1.3 2.5 16 2.5 1.3 1.7

PO,—P (mg/L) 0.012 0.026 0.028 0.024 0.028 0.012 0.023

T—P (mg/L) 0.095 0.114 0.103 0.068 0.114 0.068 0.095

jon7qlha  (ugrsL) 42 18 13 40 42 40 19
81 smnmb  (ge L 6.1 40 34 05 6.1 0.5 35
z hanz4be  (uegsL) 3.7 10 2.3 <0.1 3.7 <0.1 18

JxABER  (tesL) 16 12 9.0 1.7 16 1.7 9.7

cl~ (mg/L) 17 13 20 18 20 13 17
0%) Fe (mg/L) 0.71 0.84 1.31 0.42 1.31 0.42 0.82
| D—Fe (mg/L) 0.15 0.11 0.15 <0.05 0.15 <0.05 0.11

EC (mS./m) 18.2 14.0 213 20.6 213 14.0 185
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5 No.5 (3t 2 FE3R) |
A EENREHNEHRELS—

FEBR 5/21 8/20 11/19 2/18 _ _

FRKEFZI 9:54 9:50 10:01 9:55 BX wh 3

K& & i i 551

UR c) 21.0 295 10.0 40

FREUK R (m) 0.5 05 0.5 05

2KE (m) 1.6 1.4 0.8 16

ERE (m) 05 0.8 <05 0.7 0.8 <0.5 06
— | K& e 18.0 241 12.0 6.5 241 6.5 15.2
ﬂé pH 7.3 7.2 7.1 7.1 7.3 7.1 7.2
B| po (mg/L) 8.2 6.2 8.3 10.3 103 6.2 8.3

DO (%) 89 75 80 87 89 75 83

coD (mg/L) 43 41 43 3.7 43 37 4.1

BOD (mg/L) 0.9 1.0 0.6 0.5 1.0 0.5 0.8

Ss (mg/L) 16 23 21 13 23 13 18

KBEE (MPN/100mL)] 3.3E+03 | 4.9E+04 | 1.1E+04 | 7.9E+02 49E+04| 79E+02| 1.6E+04

NH,—N  (mg/L) 0.05 0.07 0.16 0.10 0.16 0.05 0.10

NO,—N  (mg L) 0.014 0.017 0.014 0.016 0.017 0.014 0.015
| NO;—N  (mg L) 1.2 0.7 1.7 1.7 17 0.7 13
E DON (mg/L) 0.14 0.81 0.59 0.43 0.81 0.14 0.49
#| T-N (mg/L) 1.4 16 25 2.2 2.5 14 1.9

PO,—P (mg/L) 0.021 0.025 0.035 0.022 0.035 0.021 0.026

T—P (mg/L) 0.090 0.112 0.103 0.079 0.112 0.079 0.096

jon7qlha  (ugrsL) 12 6.7 2.7 15 12 1.5 5.7
B sommb  (uesL) 1.1 2.1 0.8 0.1 2.1 0.1 1.0
z hanz4be  (uegsL) 0.2 0.6 12 0.8 12 0.2 0.7

JxABER  (tesL) 5.1 6.1 4.7 2.6 6.1 26 46

cl~ (mg/L) 13 11 17 18 18 1 15
0%) Fe (mg/L) 0.22 0.29 0.89 0.77 0.89 0.22 0.54
| D—Fe (mg/L) <0.05 <0.05 0.14 <0.05 0.14 <0.05 0.07

EC (mS./m) 17.2 155 20.3 203 203 155 18.3
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R No.6 (it Hi&R) B A
A EENREHNEHREVS—

FEBR 5/21 8/20 11/19 2/18 _ _

FRKEFZI 10:15 10:10 10:18 10:15 BX wh FH

KiE & i i 53]

SUR c) 21.0 295 10.0 40

FREUK R (m) 0.5 05 0.5 05

2KE (m) 30 25 2.6 2.8

ERE (m) 0.8 0.9 05 0.6 0.9 05 0.7
—| K& c) 18.9 285 11.2 5.1 285 5.1 15.9
ﬂé pH 8.4 7.3 75 75 8.4 7.3 7.7
B| po (mg/L) 10.5 6.5 9.4 1.2 112 6.5 9.4

DO (%) 116 85 89 91 116 85 95

coD (mg/L) 5.4 5.3 47 35 54 35 4.7

BOD (mg/L) 1.3 18 14 0.6 18 0.6 13

SS (mg/L) 10 8 28 13 28 8 15

KiGHE (MPN/100mL)] 7.9E+02 | 7.9E+03 | 7.9E+03 | 3.3E+02 79E+03| 3.3E+02| 4.2E+03

NH,—N  (mg/L) <0.01 0.06 0.28 0.06 0.28 <0.01 0.10

NO,—N  (mg~L) | 0018 0.014 0.019 0.009 0.019 0.009 0.015
% | NO;—N  (mg-L) 0.7 0.4 15 14 15 0.4 1.0
E DON (mg/L) 0.42 0.77 0.24 0.23 0.77 0.23 0.41
#| T—-N (mg./L) 1.1 1.3 2.0 1.7 2.0 11 15

PO,—P  (mg-L) | 0.008 0.028 0.026 0.021 0.028 0.008 0.021

T—P (mg/L) | 0.064 0.093 0.094 0.070 0.094 0.064 0.080

jon74lha  (uegsL) 23 14 12 48 23 48 13
81 spmb  (ue U 3.3 35 3.1 0.8 35 0.8 27
z 40074be  (uegsL) 2.2 12 30 0.9 30 0.9 18

JxAE  (uesL) 9.3 12 9.9 2.8 12 28 8.4

Cl™ (mg/L) 16 13 18 18 18 13 16
0%) Fe (mg/L) 0.24 0.26 0.95 0.53 0.95 0.24 0.49
| D—Fe (mg/L) <0.05 0.05 0.08 <0.05 0.08 <0.05 0.06

EC (mS./m) 18.3 14.1 20.4 20.3 20.4 14.1 18.3
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wa|  Nozo@ommmm) | maum | LR
A EENREHNEHREVS—

FEBR 5/21 8/20 11/19 2/18 _ _

FRKEFZI 10:48 10:35 10:50 10:54 BX wh FH

KiE & i i 551

SUR c) 21.0 295 10.0 40

FREUK R (m) 0.5 05 0.5 05

2KF (m) 15 1.0 11 11

ERE (m) 0.8 0.8 <05 0.7 0.8 <05 0.7
—| K& e 185 28.9 10.8 46 28.9 46 15.7
ﬂé pH 8.5 7.3 75 75 8.5 7.3 7.7
B| po (mg/L) 11.9 6.7 9.2 1.3 11.9 6.7 9.8

DO (%) 131 88 86 90 131 86 99

coD (mg/L) 6.6 5.9 47 40 6.6 40 5.3

BOD (mg/L) 2.4 2.6 0.9 0.7 2.6 0.7 17

SS (mg/L) 12 6 25 12 25 6 14

KBE (MPN/100mL)] 3.3E+02 | 7.9E+03 | 7.0E+03 | 2.4E+02 79E+03| 24E+02( 3.9E+03

NH,—N  (mg/L) <0.01 0.03 0.28 0.07 0.28 <0.01 0.10

NO,—N  (mg~L) | 0016 0.018 0.022 0.007 0.022 0.007 0.016
% | NO;—N  (mg-L) 0.5 0.7 15 11 15 0.5 0.9
E DON (mg/L) 0.55 0.27 0.42 0.37 0.55 0.27 0.40
#| T—-N (mg./L) 1.0 1.0 2.2 16 2.2 1.0 15

PO,—P  (mgsL) | 0.007 0.024 0.020 0.017 0.024 0.007 0.017

T—P (mg/L) | 0.070 0.094 0.078 0.065 0.094 0.065 0.077

jon74lha  (uegsL) 26 14 15 5.3 26 5.3 13
81 smpmb  (ue L) 3.0 3.1 28 0.3 3.1 0.3 23
z 40074be  (uegsL) 25 15 25 <0.1 25 <0.1 1.7

JxAE  (uesL) 16 12 5.1 2.6 16 2.6 8.8

Cl™ (mg/L) 17 13 19 18 19 13 17
0%) Fe (mg/L) 0.33 0.33 1.08 0.45 1.08 0.33 0.55
| D—Fe (mg/L) <0.05 <0.05 0.09 <0.05 0.09 <0.05 0.06

EC (mS./m) 18.3 13.2 211 20.1 21.1 13.2 18.2
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